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Ru.— FeTyy o PG qUIE WEA HIE T
¥ mwaa A & R A &
Fafe R & . for §7 F#l @
FgwE g ghare daw Fed
G [T A |
All questions are compulsory.

All questions of each Section (4, B and C)
should be attempted together.

wmaﬁemf?‘/
TR 4T (3, 5, §) & T 7 B wrranr #r

SECTION A (4FT &)

1. (a) “Previous year as well as asséssment year are
financial years yet they are not the same.” Discuss. 5 '

g f 9 Prefeor at 2 o ¥ & fag 2
@ & @ Ep R AR

(b) X furnishes the following information in respect
- of his income for the previous year 2011-12:

, 4

(i) Royalty received in Canada from
Government of India (It is paid
for the use of knowhow in
executing a project in Canada)  5,00,000
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(ii) Salary received in Nigeria from

an Indian Company for rendering

services there 2,00,000
(iii) Capital gain on sale of a house

located in Kanpur (Sale consi-

deration is received in Canada) - 6,00,000

(iv) .Loss from business carried on in
Canada (business is controlled
from India) 4,00,000

Find out his chargeable income for fhe assessment
year 2012-13 if X is (a) resident but not ordinarily-

resident or (b) non-resident. ‘ 5
x%ﬁaﬁzon—u%ﬁ»ﬁaﬁm%aﬁ#
frefaRed Q@ ye™ & &—

() RT TSR A BT § A
e @ e # e IR

¥ fee § aee) e -

FemE R ATEE)  2500,000
(i) TP W T @ Ao

% S e B % R

T Ja  ®2,00,000
(iii)y BER ¥ Rera 7B B

R Goft frem (e wfed
P AT ) 2 6,00,000
(iv) BT ¥ 5% o1 W IRER 9@

= (@RER TRa | ) < 4,00,000

P.T.O.
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(a)

.4 o .
frrieor @ 2012-13 3 R S @ S B
e X (@) P & feeg Al O W e
ﬂ'ﬁ%&ﬂ(@):ﬂﬁﬂ?l'

C (HUF), is a Hindu undivided family, whose
Karta C is a person of Indian origin. During the |
previous year 2011-12, C is non-resident (as he
visited India for 25 days during April 2011). The

family’s business is controlled by a team of

professionals in India under the guidance of C.
Every year C comes to India for 100 days. Find
out the residential status of C.(HUF). 5

C (HUF) fig sfwea @gs & R @l
AT 7 @ A C ¥ @ af 201112 B
dRM C ofer & (@ify 98 wa 2011 F
2R 25 @9 & o) wiRd omaT «UT)| |Es B
FRER C ¥ Affed & wia “Ra 4 @
R o gRT PR fear W &1 9 9 C
100 3 ¥ R WA amw §1 C (HUF) &
foyareira aRefy s B

Or (319d0)

B is a citizen of Bangladesh. His grandmother was
born in a village near Dhaka in january 1940. He

- came to India for the first time since 1990 on

October 15, 2011 for a visit of 190 days. Find out
the ,residential status of B for the assessment year

2012-13 on the assumption that the wife of Bisa -



(b)

()
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resident but not ordinarily resident in India for the

same year. : 5

B STARY T AMRG & WA &7 BT GH
A 1940 § @1 & e T Tfa H ga AT

Tg 1990 ¥ TES TR 190 A & Y 15 IR
_2011ﬁWSTmTW|U€W§?)I%B?§T

el wwa @ PE & frg 9w ¥ ¥ R

A @R W uRa #H Fae T 2 B @

ﬁaﬁwa&zm—a%%ﬁﬁaﬂanﬁuﬁfm
BT | '

X Ltd., an Indian company has 5 members on its
Board of Directors who are all non-resident in
India. All the shareholders are foreign nationals
and non-resident in India. The business of the
company is wholly controtled from UK. Find out
the residential status of X Ltd. | S 5
ve qRdT B X Ld ¥ Pewe ded A 5
goe ) 4 wh Wwa ¥ afad ¥ W
s el wfes ¥ ok WA ¥ arfverd €
FTA BT FRER T a8 Joko ¥ AT 81 X
Ltd & Frarir aikerfy s1a B |

For the assessment year 2012-13, Mrs X (date of
birth: September 19, 1950), fumlshes the follow-

ing information:

P.T.O.
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4
Gross agricultural income 11,00,000
Expenditure on earning agricultural o
income 1,00,000"
Non-agricultural income 12,00,000

Determine tax habllxty of Mrs X for the assess-
ment year 2012 13, on the assumptnon that she

“contributes ¥ 60,000 towards public provident
" fund and pays Insurance premium of ¥ 50,000 on

her life insurance policy (sum assured:
% 2,00,000). | -5

2012—13ﬁuhwaéé3f%{fr&ﬁﬂ‘cﬁx=‘r
ﬁw@ﬁawmaﬁ%mﬁwﬁ@w
fyciax 1950 B):

L :

AP PRI - : 11,00,000
HR T F e | AT ' 1,00,000

| R AT 12,00,000

78 wHaR 5 AW X ¥ ae wRw fAfr §
2 60,000 BT ST fram & 3R Iy Sfie
aiferedy W= € 50,000 % & WMATE BT YTAE
i &, fieor ad 201213 ¥ Ry SR AT
feifa AR | (@rga TR € 2,00,000) |
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SECTION B (4T @)

2. "Mrs. X (aged 40 years) is working with a tyre manu-

| facturing company and is posted at Mumbai. She has

received the following payments during the financial
year 2011-12 from her employer: |

Basic safary : € 60,000 per month
Dearness allowance 40% df basic salary

Her employer has taken cn rent her own house on a
monthly rent of ¥ 15,000 and same has been provided
for residence of Mrs X. Company is recovering ¥2,000
per month as rent of house. Mrs. X has further
furnished the following details:

(i) Subscription to notified long term infrastructure
bonds of ¥ 20,000 under section 80CCF.

(ii) ‘She has paid professional tax of ¥ 2,500 -during
financial year 2011-12. |

(iii) She is\'owning only one house and payment of
interest of T 1,75,000 and principal of ¥ 1,00,000
was made to Punjab National Bank in respect of
housing loan taken for purchase of house on
January 1, 1998.

(iv) She has also taken a loan of ¥ 3,00,000 on June 1,
2011 from her employer for study of her son. SBI
rate on April 1, 2011 for such loan is 10% p.a. Her

P.T.O.
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8
employer has received X 10,000 as interest from

her salary for such loan during the year.

(v) She paid % 10,000 by credit card as mediclaim
insurance premium on the health of her spouse.

Compuie taxable income and tax liability of Mrs. X for
assessment year 2012-13. 15
40 Tty AR X =R RAtHYT T § I R @
# ol 4eE ¥ Prgm ¥ IR I e @ fasha

o 201112 % R PR T ww gE—

T & T 60,000 ARG

| wEE A qE Aq BT 40%

I FraYed S SHET YT HEW < 15,000 F WD
v W forar & ok 99 & A X 1 99 fa
¥ R fmr m &) B AN € 2,000 FHT B
fox % ®Y ¥ Tgd @} W@ 2 Awd X A
P =i A e &—

(i) &R 80CCF & 3afifd T 20000 & 3@131‘?1'«1

Aefiferd FpTeaTR FuTA F Fer | -

(i) fxfg ad 2011- 12ﬁ€@=‘rqﬁ=ﬁsm$mﬁ
%2500 T YT faa|

'(m)aga%aawnmaﬁm%‘aﬁ?1maﬁ

1098 B! TP A GIT W IEMT T & ford
TE YeEe §& @ T 1,75000 &N SR
%1,00,000 F& & I YA AT AT
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(iv)tﬁ”iﬁ1'q32011aﬁmgﬂasm$%ﬁ
o PR ¥ € 300,000 FT A FoT T e
sﬂm$'m$m1aﬁazo11ﬁm
o ¥o B T 10% T | e Fren B
aﬁ%ﬁmwm%%ﬁm%ﬂﬁm
% w7 § £10000 WA BAI
(v)g@%mﬁﬁmm'mﬁ%ﬁqm
fe % w9 F Bfe TGN X 10,000 F
Cunislcil | |
e ¥ 201213 B R AR X F IR 3T

2. (a) Discussv'the folloWing:
| X, employed in ABC Co. Ltd. as finiance manager,
gives the list of perquisites provided by the company
to him for entire financial year 201 1-12:

(i) Medical facility given to his family in a
hospital - maintained by the _employer
company. The estimated value of benefit
derived from such facility is % 40,000. '

(i) Domestic servant was provided at the
#  residence of X. Salary of domestic servant is
- % 1,500 per month. The servant was engaged
by him and the salafy is reimbursed by the

company (employer). :
' ' P.T.O.



5789

10

(iii) Free education was provided to his two
children A and B in a school maintained and
owned by the company. The cost of such
education for A is T 900 per month and for B
€ 1,200 per month. No amount was recovered
by the company for such education facility
from X.

(iv) The employer has provided movable assets
such as television, refrigerator and air-
conditioner at the residence of X. The actual
cost of such assets provided to the employee
is € 1,10,000. -

(v) A gift voucher worth X 10, 000 was given on
the-occasion of his mamage anniversary. It is
given by the company to all employees above
certain grade. _

State the taxablllty or otherwise of the aforesald

perquisites and compute the total value of taxable

perquisites. : 10
frefafea &1 o HifR—

faw W@ & WU ¥ ABC Co. Ltd. # ffSia X

R frm af 2011-12 & R FO FRWEK

uRaferd # & T 8— |

() e s gR e oregaTel § TEh
oRaR & & T fafeear g g6 aeR
& gRur ¥ wra fRaem @ agEt o
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% 40,000 & |
(ii)X%WmWMmMWl
mﬁmzﬁrnﬁﬁaﬂﬁ,soo%l#rm
F wE I W Y@ A IR T BT
 (Frarea) g far e g1
(iii)ma’rara‘iiAsﬁ—\rBaﬁwﬁmmﬁ
ﬁzwﬁmmﬁﬂéeﬁmwm
o1 i § 3R O B ERT WA &
Aéﬁmﬁ%ﬁﬁr&ﬂwm?mqﬁ?ﬁ%
-_@?B%%ﬁ?_moo%%lxzﬁ’rm'
Wmvgﬁw%,%ﬁaéﬁﬁww
2 el & @ oA
(iv)ﬁ?ﬂﬂﬁxé?ﬁmwa%{ﬁraﬁ,ﬁm
aﬁvqmwwﬁﬁraaqﬁmﬁiﬁm
2 | P g wew g9 uRwERmE B
AR wTE € 1,10000 &1 o
(v)aﬁﬁmgﬁaﬁ?ﬁﬁﬁﬁmq‘\'?m,oov
ye B feamw fan T FE T
Afa I ¥ HW T WA FHEE B
fem S B 1 : o
aﬂﬁqﬁamﬁmmawwm
gaEd ok awem uRaREl oA e

(b) Discuss brieﬂy the provisions relating to the tax

treatment of death-cum-retirement gratuity. . 5
(b) Feg-we-Fghy STEH & HR-fEI LEREIED
ot 31 WA A fae A

P.T.0.



'5789 12

3. (a) X owns a residential house property. It has two equal
residential units, Unit I-and Unit 2. While the Unit 1
is self-occupied by X for his residential purpose,
Unit 2 is let out (rent being ¥ 6,000 per month, rent
of two months could not be recovered). Municipal
value of the property is ¥ 1 ,30,000, standard rent is
¥ 1,25,000 -and fair rent is ¥ 1,40,000. 'Municip'al
tax is imposed @ 12% which is paid by X. Other'
expenses for the previous year 2011-12 being
repairs ¥ 250, vi'nsurance T 600, interest on capital
(borrowed on 1-1-2000) for constructing the
property % 4,00,000. :
Find the income of X for the assessment year -
2012-13 on the assumption that income of X from
other sources is ¥ 3,00,000. ‘ 10

wﬁanﬁqumﬁfmwﬁ%lwm

# 1 wA Fariy geEd - e 1 AR

- 3P 21 ZHIE 1 X §N IR PRl yarEr &
o - &, o 2 R W IO &8

2 (W?s,boo'qm.%,a‘rﬂﬁﬁmm

o A8 @ g )| Ry B TR wfere e

% 1,30,000 8, WHS fHuar ¥ 1,25000 3R SR

fvrar & 140000 &1 AR Tl B 12% B

W R AT T 2, e X g e

&) gf 9 201112 & oY o =W ¥ 250
A, € 600 41, Oty fmfor & ford 1-1-200

H UR offt ¥ §N R = T 400000 B TE



(b)

(a)

13 5189.

Hﬁﬁ%xaﬁm@?ﬁﬁmm,m,mo?
ffor af 2012-13 & BRI S I T
oo : ‘

Explain the provision of Section 54B with 'regard

 to exemption of capital gain on sale of agricUlthral

land. _ 5
w@ﬁﬁﬁw%ﬂmm’s@ﬁ
mm&Bmmmﬁml

Or (39dn)

X sells (non-list_ed) shares in a private sector
company on August 10, 2011 for X 8,05,000 (cost of

- acquisition on June 15, 1984: ¥ 60,000, expenses on

sale T 5,000). On July 10, 2011, he owns one resi-

~ dential house property. To get the benefit of

exemption under Section 54F, X deposits on May

30, 2012 T 6,00,000 in Capital Gain Deposit

Account Scheme. By withdrawing from the Deposit

Account, he purchases a residential house property

at Dethi‘on July 6, 2013 for ¥ 4,80,000. Ascertain:—

(i) The amount of capital gain chargeable to tax for
the assessment year 2012-13 "

(ii) Tax treatment of unutilized amount
(iif) When he can withdraw the unutilized amount

(iv) What X has to do to ensure that exemption

under Section 54F is never taken back. .
P.T.O.
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(Note: Cost Inﬂation Index for FY 2011-12: 785
and 1984-85: 125). . ' 10

X 10 TR 2011 @ P o &3% o A
(eregdiag) TRRY @Y € 8,05,000 ¥ e € (15 S
1984 Y oI BN ARTA ¥ 60,000, fasl W =T 2
5000)| 10 Fes 2011 ¥ 398 v& A &

| WuRy @ @ 2| uR 54F % st B BT

BIIET W BN & o 98 30 WE 2012 & Yoh
JFHA™ ST T Ao ¥ T 6,00,000 STAT HRICT
2| O @1 Y SERY §I, 98 6 IS 2013 B
7 480000 % Rech ¥ v fay e wRY
aﬂm%laﬁﬁﬁaﬁaﬁfﬁ-—

() ﬁuﬁvraézom—wésmW%ﬁmmy

ol arfvamt &1 af¥

(i) AT R &1 HR-FrHaor

(m)agsxacrzfrmavrﬁraﬂmmaww
2

(iv) T8 g o & R f5 o 5F ¥
g g o0 9w T N W, X @ A’
&A1 BN

(Fre: ar WY gueie, fm aé 2011-12: 785
3R 1984-85: 125)

(b) In computing the taxable income from let out
house property what deductions are available
from annual value? 5
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Ao ¢ ) T e ¥R % B T
e § e e § @ Rt It

&7

SECTION C (W %)

4! Dr.Xisa physician. Her age is 64 years on January 1,
2012. The receipt and payment account of the previous
year 2011-12 of Dr. X is as underi— '

. g g
Balance brought . |Purchase of
Forward 10,000, commercial vehicle
Receipts from sale ' (before September 30,
of medicine 2,50,000{ 2011) ~4,00,000
" Consultation fees 50,000 Drawings .2,50,000
Visiting fees 2,00,000| Deposit in bank for
Lectures 5,000 S years 1,50,000
Family pension 2,80,000| Surgical instrument - '
1 Savings bank interest 1,000 purchased before
Loan from bank 3,00,000{ September 30, 2011 50,000
Share of profit from Instalment of loan
HUF _ 50,000{ paid (including
{Agricultural income 1,00,000| interest T 22,333) 1,21,000
- |Income from lottery Medlcal insurance
(net after deduction Premium . 32,000
of TDS @ 30%) 35,000| Instalment of housing |
loan (principal 1,08,000
component 48,000
Advance tax paid 20,000
Purchase of medicine 47,000
Payment for medical E
Journal 5,000
Vehicle expenses 50,000
Balance credit forward 48,000
12,81,000 ‘ 12,81,000

P.T.O.
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Other relevant i_nformation:——-

(i) She resides in her own house which was
constructed in 1999 with a loan taken from LIC
housing (taken before April 1,1999) of
10,00,000 @ 10% per annum out of which ¥
6,00,000 was stijl due. One-fourth portion of the
house is used for clinic purposes.

(ii) She invested in term deposit of ¥ 1,50,000 in Bank

of Baroda on July 1, 2011 for a period of 5 years

" in the name of her minor daughter @ 9% per
annum, |

(iii) She purchased a commercial vehicle on July 1,
2011 for T 4,00,000. A loan of ¥ 3,00,000 was
taken to buy the van @ 8% interest. One-fourth
use of the vehicle is estimated to be personal.

- (iv) She paid medical insurance premium for herself _of
T 16,000 and for her mother of ¥ 16,000. Her
mother is dependent on her.

(v) She got her share from HUF's income of
T 50,000. 15

%o X & RIfscad g1 1 T9a-2012 B SHD! Y
aé&%lmoxzﬁrq?aézoﬁnz%ﬁﬁmaﬂ?
YT oGl 39 TR B:—
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7 7

RDIRIGE ] 10,000| TS argd &
zar$ & e & Wikt 2,50,000{T9% (30 Riciav '
et g 50,000,201 ¥ T) 4,00,000
Jf B @Y T W |3mERYT 2,50,000
foran T e 2,00,000(5 T & ford & &
IR | " 50005 150,000
TR e 2,80,000(30 f:gréw T’g" i '
g de 1,00016‘r ey ) 50,000
| = | 300000 o e e -
HUF G ami (¢ 22333 ¥ =T =
BT 50,000 ) 1.21,000
o o ooty v | o
wied ¥ s AT T B
| m 39;/0 W o (o T o
= I YE) | 35,000( 48,000) - 1,08,000
T 47,000
fafpe-ufer & |
m UGS 5,000
89 [g ) 50,000
s 3 | 48000
12,81,000 | 1281.000

ar I gEAr—

( T® oW fel 7o ¥ B ¥ R 1009 #
TelodTEodlo BRRIT ¥ 10% aiffd & &} W R
10,00,000 T @Y (1 3T 1999 W qd) &
off | T PT-T 6,00,000 3l FHRT 81 TR F TH
Aeré T Y feeda v & R g
far S 21 -

(ii) I 9% TGP B W W JI IJaqB TN &
am 4 5 98 o @l F R 1 gong 2011 B

P.T.0.
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9% 3% FEET F T 150000 AEARD T N
el 5 |

(i) ST 1 e 2011 BT T 4,00,000 ¥ TF FORTH

98T TNIET| aTET e F R 8% &N W 2
300000 T Fw forar) aeq &1 wE wens
SUEART foell e &)

(iv) SO o R € 16,000 BT AR AT A
ﬁﬁﬂeooomﬁlﬁmﬂ%ﬂmmwﬁml
D] AT S W g

(v)aﬁHUFﬁmﬁm%wasmﬁ
?sooooﬁ?rl

Or (37%@m)

4. (a) Profit and loss account of ABC & Co. (a firm of
* chartered accountants) for the year ending March
31, 2012, is as follows:—

3 g
Expenses _ 2,10,000| Receipts from clients and
| Depreciation 1,40,000( audit fees 7,05,000

Remuneration to the Net loss ' 1,50,000

Partners - 3,80,000
Interest to the partners

@ 15% per annum 1,25,000

8,55,000 8,55,000

~ Other information:— ,

() Out of expenses of % 2,10,000, ¥ 76,400 is not
- deductible by virtue of Sections 36 and 37.

(ii) Deprematlon as per Section 32 is ¥ 1,07 ,300.

(m) The firm satisfies all the condmons of Sections
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184 and 40(b).
Find the amount of net income and tax liability of
the firm for the assessment year 2012-13. 10

ABC & Co. (AR (€= @ Uah BH) 3T 31
qd 2012 B g9 o & Y emi—sify oran

3’3 YPR 8:—
: 5 , . 5
@ 2,10,000| TTE®! & MR 3R |
ToUE™ 1,40,000| TE-T0ET Y | - 7.05,000
qrfiart @ TR | 3,80,000, T8 ETﬁ ’ 1,560,000
15% a1 & | W) '
yrferRt & & 1,25,000 _
8,55,000 ~ 8,55,000| -
@) ?210000%@#'@{%36@?37&6
HRO] ¥ 76,400 FHEKN AT 6T ¢ |

(i) 9T 32 ¥ ITER eI ¥ 1,07,500 B |
() wF arT 184 3R 40(b) T Wt wal F gfd

H 8| _
fuiRa af 2012-13 & o &4 o g5 a9 o
R AT PRI TR B |

(b) Explain briefly the provisions relating to computa-
tion of income on estimated basis in case of tax-
_payers engaged in the business of plying, leasing

or hiring trucks under Section 44AE. 5
¢Hl P FAM, T W AT IR W 31 & IRIGR

¥ T HearRl P aRT 44AE & faia e
P.T.O.
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IR R IR-afEeT § Wdfte uee @) e
F we |

5. (a) Whenis an individual assessable in respect of remu-
neration of the spouse under Section 64(1)(i))? - 5

el & Refie & |eu § R 64(1)(Gi) &
it ¥ =fed we o aar 87

(b) Discuss provisions relating to set-off and carry-
forward of capital losses. 5

Waﬁﬁr%mﬁsﬁ?wﬁm@a

. Iugyl BT fRAgET IR |

(c) Discuss brleﬂy ‘the verdict delivered by the
Supreme Court in the case of CIT vs Raja Benoy
Kumar Sahas Roy. 5

CIT g7 3T RFg $AR §e9 WG & ama &
SR e gN A T et @1 e A

e iR |
Or (3191ar)
S. (a) Discuss provision relating to clubbing of income of
minor child under Section 64(1A). , 5

URI 64(1A) & 3Tl IgASD T B A BN
HARTE B ¥ G Susy #7 RdTe ARA |

(b) Discuss briefly provisions relating to set-off and
carfy-forward of business losses. _ 5

Suge @1 WY # e AR
(c) Discuss provision relating to deduction in respect
of rental payment under Section 80GG. 5

URT 80GG & Imfa fewmn yrw & ferd
HEN & Hafda Suay @1 e HIRE |
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